TR/ RSB SASH(#)
vio (12-3-12) |

U10 (12—-3-12)

JTHT N HMDE HTEL Ba | B8 | X8 BXAE B
JoHr 0 - 212 - 2 - 1 2 4 -2 3
tES 2 - 0 - 4 - 0 6 6 0 6 1
HMDE | 2 - 2 - 7 - 1 4 9 3 6 2
ATEL - 0 - 411 - 1 0 1 11 -10 4
TOHO AFFC ]| H£R Ba | B8 | X8 BXSE B
TOHO 0 - 9]0 - 12 - 0 0 21 -21 3
AIFFC 9 - 0 - 19 - 0 6 28 0 28 1
]| 12 - 0 - 7 - 0 6 19 0 19 2
i - 0 - 1910 - 17 0 0 26 -26 4

Ui12 (15—-3-15)

STHT DENOVA =it 2E A | 8A | &4 [B&AF B
JTHT 0 - oJo - 1]1 - 1 1 1 2 -1 3
DENOVA [0 - 0 0 - 0|3 - 1 5 3 1 2 1
&t 1 - 0]0 - 0 0 - 0 5 1 0 1 2
Bl 1 - 1|1 - 3]0 - o0 1 2 4 -2 4
TOHO =t HLDE RIEIL B = B/a ki [BRAE EA
TOHO 5 - 1o - o]1 - 1 5 6 2 4 1
=it 1 - 5 2 - 0|0 - 1 3 3 6 -3 2
HOOE [0 - o]0 - 2 0 - 0 0 0 2 -2 4
AL [1 - 1]1 - olo0o - o 5 2 1 1 3

TE/MERSR SA48(L)
vio (1231w

U10 (12—-3-12) it

STHT DENOVA | XRfJr AIEI A | 88 | &5 |[BEAF B
STHT o - 2]1 - 24 - o 3 5 4 1 3
DENOVA [ 2 - 0 3 - 0|7 - 0 9 12 0 12 1
Xikdr [ 2 - 1o - 3 3 - 1 6 5 5 0 2
At [o - 4]o - 7[1 - 3 0 1 14 -13 4
FHK El R tilEmiE | M B ki [BRAE EW
K 1 - 2|2 - o1 - o0 6 4 2 2 2
E L 2 - 1 4 - 1|2 - 1 9 8 3 5 1
R 0 - 2|11 - 4 0o - 2 0 1 8 -7 4
R [0 - 111 - 212 - 0 3 3 3 0 3

U10 (12—3—-12)

HiE JthTdE A¥FFC TIEE %= Ba S [BRAE EW
BiE i - 110 - 6|2 - 17 1 3 14 =11 4
JhTdt 1 - 1 2 - 612 - 2 2 5 9 -4 3
GBFFC |6 - 0|6 - 2 1 - 0 9 13 2 11 1
TEE 7 - 212 - 210 - 1 4 9 5 4 2
SEHE HhmoE [ LAVARO E[%] e | BA | kA [Bxas B
EHE 4 - 0|3 - 3|1 - 3 4 8 6 2 3
HhoO=E 0 - 4 0 - 6|12 - 4 0 2 14 -12 4
LAVARO [3 - 3[6 - o0 0 - 0 4 9 3 6 2
B|¢:) 3 - 114 - 210 - 0 7 7 3 4 1




